SACHDEVA CLOBAL SCHONDL

SA2-VIII o 32013
SUBJECT : MATHEMATICS
Time : 3 hrs. M.M. : B0
General Instructions ;
(il  All questions are compulsory.

fii)
(iii)
(iv)
{w)
fvi}
Q1.

Q2
Q3.
Q4.
. 05,

Q6.
Q7.

8.

@10.
@11.

Q1.

013,

Read all questions very carefully.

Questions 1 to 10 carry 1 mark each.

Questions 11 to I8 carry 2 marks each.

Questions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each.

Find the area of the rhombus whose diagonals are VZem
and 40cm.

Identify the terms of the expression 6x- 7y.

Express 0.00035 in standard form.

Where will a point lie whose x-coordinate is zero?

What happens to the volume of a cube ilits edge ls doubled?
Find the common factors of 64a?, 24y, 325y,

Identify the proportion as Direct/Inverse in the given
statement :

*'The number of labourers and the time to complete a given
work.”

An itern marked al T840 s sold for 714, What is the
discount percent?

Express 2.7149 x 107 in usual form.

On which axis will the point (5, 0) lie?

28% of the total number of students were present on

Monday. If the total number of students in the school is
1050, how many students were absent on Monday?

A loaded truck travels 28km in 30 minutes. If the speed
remalns the same, how far can it travel in 6 hours?
Find and correct the error .
2x +5
2x

{1)

=5

o



Q4.

0I5,

Q16.
Q17.

" 18

019,

020.
Q21.

Q23.

@24,
Q25.

026.

27,

Find 'n' so0 thal

HRERON

Construct a square with side 5.5cm. (No steps of
construction)

Subtract 3a’h + Tab - b* from -4a*h - 8.

The area of a trapezium shaped field is 480 m?, the distance
between two parallel sides is 16m and one of the parailel
side 1s 20m. Find the other parallel side,

In an old age home, there are 100 residents and the food'
for them can last for 20 days, If 25 more residenls come to
stay there, how many days will the food last?

Using Identities, evaluate
[a) (983 - (17F {b) (998)*
A road roller is 350cm long and its diameter is 84cm. It

takes 500 complete revolutions to level the road. Find the

area covered by it.
Factorise : p* - B1.

- Construct a rhombus ABCD whose diagonals AC and BD

are 7em and Scm respectively. (No steps of construction)

How many cubes of slde 15em can be fitted into a box
which measures 150cm x 90cm x 750m?

Simplify : (x + 7) [x* - 7) + 49 and find its value for x= 2.
Four persons could fit new windows in a house in 3 days.

[a)  One of the persons fell il before the work started.
How long would the job take now?

(b)  How many persons would be needed to fit the windows
in one day?
Factorise and divide :
z (52 - 80) by 5z (z+4)
The price of an article is 12,000 and sales tax charged on
it 1s 12%. Find the cost of the article when a customer
bays it.

(2]



()28, Show that :

9 5 1y 9 5
(“ﬁ"‘iq] “‘5'“*[51"5‘-‘1]

@29, Draw a linear graph to show the following data :
Weight of rice (in kg 10 15 20 - 25
Cost (in 7] 500 750 1000 1250

Use the graph to find the cost of 30 kg rice.

Q30. Sonia invested 5,000 in a business. She would be paid
interest at 8%, per annum compounded annually, Find

(al  The amount credited against her name at the end of
the second year.
(b}  The interest for the third year.

@31. Reema is painting the walls and ceiling of a cuboidal room
with length, breadth and height of 12m, 8m and Sm
respectively. If each can of paint covers 8sq.m of area, how
many cans of paint shall be required to paint the room?

332, Factories :

[a) »*-4x-2]

(b)  15xy + 15+ 9y + 25x
033, Simplify :

=

o ()]G

/9 -8 4 -4
v (3] =(3)
4 3
Q34. Construct a quadrilateral TRUE in which TR = 5.5¢m,

RU = 6em, UE = 4em, £R =757 and ZU = 100°, Also write
the steps of construction.
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SACHDEVA GLOBAL SCHOOL
SA2 - VI _ 3/2013

SUBJECT : COMPUTER SCIENCE

Time : 2 Hrs. M.M.: 50
Q1. Choose the correct answer and write it in the answer sheet:

2.

{i)

(i)

{tii)

(v}

(v)

(vi)

(6x1=6)

Term used to dencte different categories within MS-
Access table -

(a) Flelds b)) Data

(¢}  Records {di Database
Buying and Seiling of goods and services online
fal E-mail {b) E-Banking

(¢} E-Commerce (d) Chatting

It 15 also known as Vertical axis’ In a chart in MS-
Excel - .
fa)] M axis (b} Xaxis

e} Y axs - () D axis

Field size of Yes/No' field in MS-Access table
fa) B Byies (b) 4 Bytes '
(¢). 2 Bytes {d) 1Byte

An example of mixed cell reference

fal  $J$10 (bl  &&HJ10

€ J$10 (@ J1o

An example of a search engine on internet
fal Internet Explorer (b) Firefox
() -Google (d}y Virus

Give cme word answer for the following statements : (8x1=8)

(i)

(i)
(1)

{iv)
(v)

Online services which store information about
peaple,
Absolute cell address of 50" cell in AB column,

Maximum number of characters that can be given
in a MEMO field in MS-Access table,

An example of Freeware software.
Name given to one file to MS-Excel.

(1]



Qa3
4.

Q6.

Q7.

Q9.

[vi)  Button which represents data sorting in ascending
order.

(vii] Collection of related fields in an MS-Access table.
(viif) Extension of files saved in MS-Access.
Write any three advantages of database systems. (3

What are charts? Name any two types of charts available
in MS-Excel. (3)

Answer the following questions : (5x3=15)

il Define the term "Newsgroups',

(ifi Explain three ways of creating tables I.u MS-Access,

(iif}y Explain the term ‘Cracker'.

(ivi Write any three etiquettes which should be followed
while writing E-mails, ”

(v What do you understand by the term Tables' in
MS-Access?

Give validation rules for the following conditions in an MS-
Access table : (4)
(] TFee Amount' cannot be zero.

() ‘Date of Admission’ should be of year 2013 only.
(i) ‘Percentage’ should be between 80 and 100.

fiv) “Section’ should either be 'A', 'B', 'C", 'I} or ‘E".
Explain the following : (3x2=6)
{a}  Filtering Software (b)  Internet Telephony

[t}  Relative Cell Reference with example

Explain the following components of a chart in MS-Excel -
fa] Legend (b}  Plot Area (3x1=3)
(c) X-axis

{ii ~ The manager of ‘Technoware Systems’ wants to

graphically analyse the salaries of employees in his
company. Which feature of MS-Excel will help him

to do so? . (1)

(i) Cell F2 contains a formula =$D$2 + E2. Mona has

copied this formula to cell F3, Write the new formula .
which appears in cell 3. (1)

(2}
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(i)

Q1.

Q2.

SACHDEVA GLOBAL SCHOOL

SAZ-VIII \ /( 3/2013

SUBJECT : INTEGRATED SCIENCE

: 214 Hrs. : M.: B0
General Instructions : :

This paper consists of three sections A, Band C.

(i) Marks are indicated against each question.

(iii} Draw neat and well labelled diagrams wherever

required.

PART-A (PHYSICS)

Anawer in one word or one sentence ! [1x5=5)

{a) The lens in the eye forms real image on the retina.
Identify the type of lens.

(b) Moon Is a non-luminous object but still it shines very
brightly in the night sky. Give reason.

{¢) Expand the term INSAT.

id) Why are chickens not able to see clearly in dimiight?

(e} Which unit is used to express the distances between
celestial bodies?

Answer briefly : (2%4=8]

(] A comet appears after nearly every 76 years. It was
last seen in 1986, In which year will it be visible
again? Also name the comet.

(b}  How Is a star different from a shooting star?

[c)  Achild staying in a coastal region tests drinking water
and also sea water with his tester. He finds that the
compass needle deflects more in the case of sea water.
Give reason.

[d) In the Science Work Experience Class, Rohan's

teacher demonstrated the working of a magical toy -
‘over and over’ as shown in the figure below, -

(1}



revarde sicde -

ot card lerend

j:n:rnf: stde &
bl "i

The teacher twisted the thread and made the card
twirl rapidly.

(1) %atdidﬂuhannbsﬂwemtnﬂmmrdmdﬂﬂ?

() For what fraction of a second does the image
last on the retina?

93.  Answer the following : (3x3=9)

(a)

(b)

lc)

Look at the given figure and answer the following
questions :

[} What are such group of

stars called?

(i)  Why is it also called
Hunter?

[iiij How can it be used to
locate Sirlus star?

Diraw a tester circult to test the conductivity of lemon
jutce, ofl, heney and soap solution. What do you
observe? Justify it.

Observe the figure given below and answer the
questions that follow :

PE ey

[l Name the type of reflection shown in the figure.

(2)
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Q1.

(b)

()

[l What is angle of reflection, if AS is the incident
rayy

[iif} 1f we keep an object in front of this mirror, will
the image formed be upright or inverted?

Draw a well labelled diagram to show the

electroplating of copper on a steel spoon. (2)

Why is it preferred to store food items in tin cans?

(2)
Iron gets correded very quickly but still it is used in

making bridges to provide strength. Name the metal
by which it is coated to protect it from corrosion. [1)

PART-B (CHEMISTRY)

Answer in one word or one sentence ; (1x5=5)

fa

(k)

fc)

(d)

(el

On a eold winter night, the persons sleeping in a room
with closed door and windows with a coal fire burning
inside may die due to excessive accumulation of a
gas. Name the gas. Why Is it fatal?

In India 50% to 60% of the population suffers from
diseases caused by polluted water. Give two examples
of water borne diseases.

Petroleum is the lifeline of present civilisation and is
referred to as ‘Black Gold'. Justify the statement.

Methods of water purification

|
\ N N

? Boiling ?

Complete the analogy
Bitumen : - : solvent for drycleaning

Answer briefly : ' (2x4=8)

(a)

Given below are various activities for which fuels are
used. Name the fuel consumed in each case

[}  cooking in villages
(3)



(b)

(]

(d)

(i)

(111)

reaching school by bus
ironing of clothes

Arrange the fuels used for the above activities in order
of their increasing fuel efficiency.

Give reason for the following :

(i)

(i}

Carbondicadde in air is essential as plants use
it to make food (photosynthesis) but its excess
makes it an air pollutant.

The use of CNG (Compressed Natural Gas)

instead of diesel is being encouraged these days
in vehicles.

‘Ganga Action Plan’ was an ambitious plan launched
by the government to reduce pollution levels in the
river but it has not achleved the required success,
State four major factors respensible for high pollution
levels in the river.

(i)

|

A candle was lit and allowed to burn for two
minutes. The temperature recorded in the
three zones namely - blue zone, dark zone and
yellow zone is given in the table. Select the zones
I, Il and IIT to which you think these
temperatures belong

Temperature Likely I‘E

range wone 3118
B00-1000°C ? ‘
50-80°C ? i
400-500°C ?

While performing an experiment to show
transfer of heat, Varun placed one end of a wire
in zone | and Rohan placed it in zone [I. Whose
other end of the wire will get heated first? Give
FeEas0nnn.

(4)
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Q3. Answer in detail : o [BxE=t)

A {a} Aresource A’ is a fossil fuel which is extracted from
the earth. It is said to be formed [rom burled large
land plants (vegetation) by a slow process ‘B’ When
‘A’ is heated in absence of air it gives three products
D. E and F.'D' is a solid, 'E' is a Hquid and 'F" a gas.
i Tdentify resource "A’ and process B
() Name D, E, F and state one use of 'D".

(b) Complete the Lable given below :

Air pollutant Source Effect
- il | Sulphurdimide Petroleum refineries ?
i) ? ? damages the
. ozime |ayer
i) | Pasticulate Maller 7 ?
1] ? Rubber processing CANSeS SMmig
industries
{c] The figure given below

represents the ‘Fire Triangle’.

(i Complete the missing
conditions in the ‘Fire
Triangle'.

(ii] Water and Carbondioxide are the commonly
used substances to extinguish a fire. Select
which one of them will you use to protect the
items listed below if they catch fire. Give reason
for your chotce for any one of the items given
below :

A, Refrigerator B. Wood
c. Qi
(4. Answer the following - ' 5

fa)  Study the facts given below and answer the questions
that follow :

(5)



Q1.

(bj

(Al Fuel X' produces 90 KJ/ kg of energy, has an
ignition temperature of 80°C and produce.
carbonmonoxide and sulphurdioxide on
burning.

(B]  Fuel 'Y produces 85 KJ/kg of energy and has
an ignition temperature of 90°C and produces
carbondioxide and water on burning.

[} Fuel "2 produces 120 KJ kg of energy, has an
ignition temperature of 30°C and produces

water on burning

() Which of these fuels fs most tdeal? Give
TEason,

[} Identify the fuel which will show
spontanesus combustion.

(it} Define calorific value of a fuel,

In an experiment 4 kg of a fuel was completely burnt.
The heat energy produced was measured to
be 160,000K.J. Caleulate the calorific value of the
fuel.

PART-C (BIOLOGY)

Answer in one word or one sentence - L [(1xd=4)

()

(b

[c)

Reproduction is an energy consuming process but it
Is not essential for the survival of the individual. Why

_Is it important then?

[ am a dreadful disease of the Immune system in
humans. One of my modes of transmission is through
Infected syringes. Who am 17

Fill In the missing activitles in the given schematic
flow chart listing various agricultural practices in a
sequential organisation : _

Freparation of soil = __?__ — adding manures and
fertilisers - frrigation — weeding — _ 7 — storage,

(6)
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L

Rahul is a boy of sixteen years and goes to the gym
for a workout everyday. State tWo measures other
than physical exercise Rahul should take to maintain
reproductive health at adolescence.

Q2.  Answer briefly - (2xd=H)

(a)

{b)

ic)

Given below are various steps of a process ‘A’ that

takes place during the reproductive phase of life in

fernales .

thickening of uterine wall, release of egg from the

ovary, maturation of egg, breakdown of uterine

wall

(i  Arrange the steps given ahove in correct
Sequence.

(i) Identify the process ‘A’

(i} What is the onset and stoppage of the process
‘A’ known as?

by Fd A
DE:\&:T ad B s

Years

The given figure shows two crop fields A" and ‘B which
have been treated with manures and chemical
fertilisers respectively. Observe the graph and answer
the following questions

)  What is the reason for the different pattern of
growth of crops in the two fields over the years?

() State two advantages of manures.

Given below are different developmental stages in
humans :

embryo, gygote, foetus, adult

{7



(d)

(il  Arrange them in ascending order in terms of
cell number.

(i} Dilferenliate between the zygote and foetus
[other than their cell number).

Study the figure given below and in the circles put X

or ¥ to make the schematic representation of sex
determination in humans.

What is the term given to structures named X and Y?

Q3. Answer in detail : [3x3=9)

(al

(b)

A unicellular organism ‘P’ lives in pond water. It has

no fixed shape. It moves and catches its food with

help of structures 'Q" which keep appearing and

disappearing. The organism P reproduces asexually

by a process 'R

i} MNameP, @ andR.

il Draw a neat and well labelled diagram of the
mode of repreduction of organism P

The [figure given AR
below represents an
important process in
the life of humans.

(8}
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(i)

(ii)

ldentify and define the process represented in
the diagram.

Which one of the three - Al, A2 or A3 will be
the part of the product obtained after this
process?

[iii) What is the significance of this process in sexual

reproduction?

In the table given below the changes cccurring in
bhoys and girls during adolescence are numbered.
Write the numbers representing the changes in boys
in cirele I, changes only in girls in circle M1 and
changes which are common to both boys and girls in
the middle section IL

1. Growth spurt
3. Appearance of Adam's Apple
3. Menarche

4. Widening of hips
5. Appearance of body hair @
6. Development of mammary glands

7. Appearance of facial hair
8. Broadening of shoulders

9. Appearance of pimples

Q4. Answer the following : ' (5)

The diagram given below represeni= tii endocrine
system in humans

(al

(W

(i)

Name the glands A, B,
and C in the figure.

Gland C secretes a
hormone called
_______ . lmproper
secretlion of this
hormone results In a
deficiency disease
known as

()



Y

{1} Mrs Dhir does not use lodised salt in the food
she cooks at home. Can this lead to any Y

disorder? Give reason.
(b} Complete the flow chart :
Sex hormones in humans
I
. ' N/
1 Estrogen
produced by _? produced by _?

(10)
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Roll No. Date Class ;: VIII Section

SUBJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)

Time : 30 minutes M.M.: 15

General Instructions :

i@  Attempt all questions.

(il  There are 15 multiple choice questions in total. Only one of the options in

every question is correct. Put a (') against the correct option.

fiii} Each question carries 1 mark.

iy Do not use white fluid on these sheets.

[t}  Use only pen to mark the answers.

" @1. How many imagea of an apple will be formed il it Is placed Yetween two parallel

mirrors separaled by 50 em?
fal 0 [b]  many
ey 1 ) 3

Q2. In dispersion of white light by a prism, the coloured light which bends the least is
fa) yellow b} green
fc) red idl  wiolet

Q3. The addition of common salt to distllled waler makesita ___ of electriclty.
fa)] poor conductor b} electrode
(c) neutral i{d)  good conductor

94. The presence of on potato can be used to identify the positive lerminal of
a battery concealed in a box.
{a)  greenish-blue spot jb) pinkish-blue spot
Ic) pinkisi:‘:vgreen spot id) reddish-green spot

@5. White light is seen through the prism. Which of the following colour is not seen?
(8 Green (b)  Grey
lc) Orange (d) Blue

A, B and C are three elements which undergo chemical change according to the
following equations : '

AO. +B-B0,+A

C50,+B - B50,+C

CO+A-A0,+C

The correct order of their reactivity 1s

@@ A>B>C (b B=A>C
cf C=A>B d] Cs>Bs>A

3/2013 [C-1)



Q7.

Q8.

When zine granules are added to dil. hydrochloric acid, hydrogen gas Is evolved
which '

{a} rekindles a glowing splinter.
b} burns with a pop sound when a burning match stick is brought near it

i

(¢}  turns blue litmus red on dissolving in water.
{d) turns limewater milky.
Nida set up the following experiment In the lab :

| T
% mj
5 o v
Mac
B C

A

She lighted the candles in the set ups A, B and C respectively. The correct order of
her chservation was

fa) A -flame flickers and produces smoke, B - lame gets extinguished, C - candle
burns smoothly

b} A - candle burns smoothly, B - lame gets extinguished, C - flame flickers and
produces smoke

(e} A -candle burns smoothly, B - flame flickers and produces smoke, C - flame
gets extinguished

(d) A - flame flickers and produces smoke, B - candle burns smoothly, C - flame
gets extinguished.

Samuel set up the following experiment under the guidance of his teacher.

i ey s
Awwim
Heak

Haeal
He observed that cup 'A° eatches fire easily however cup 'B' does not catch fire, His
teacher explained the observation as : ' :
(a) Paper is an inflammable substance while water is not.

(b) In cup B the heat is conducted to water so the ignition temperature of the
paper Is not reached.

(C-2]



@10.

ol11.

g12.

{c)  Water has a lower ignitlon temperature than paper.
{@ Cup A has more air than cup B which helps in combustion.

While studying the different zones of a candle lame, Lalita introduced a clean glass
slide into the luminous (vellow) zone of a steady candle flame. She observed
that

fa] the slide became very hot and broke

ib)  coloured spots appeared on the slide

fc) a circular black ring was formed on the glass slide
[d}  wax vapours solidified on the glass slide.

Four students A, B, Cand D ohserved a section of the onion peel under the microscope
and made the following sketches :

foEa e

B
@@0 -
B
Who made the correct sketch of the onlon peel?
@] A k) B
£} C (d D

A student grew gram seedlings in three pots X, Y and Z using the following things :
Pot X' - soil and manure

Pot Y" - soil and NPE fertiliser

Pot ‘Z' - only sol

He kept the pots for a few days in sunlight and watered them regularly. Observe the
growth of seedlings and choose the figures which completely justify the use of these

b .8 Y
vRuRCEAoRURE

(C-3)




013, Study the graph showing percentage of height with age in boys and girls.

=

=

e

The graph shows that
{a) initially girls grow faster than boys

b) both girls and boys reach their maximuim height by about 15 years.
e} initially boys grow faster than girls

(d) both (a) and (b)

@Q14. Sneha is a girl of 13 years and s 152 cm tall. At the end of the growth period her

height is likely to be . {refer graph in Q13 for % of full height In girls)
) 171 cm b 200 cm
{e} 160cm (d) 184 em

@15. To select healthy seeds for sowing Ramkishore performed the following activity :
%@
000 [LTTTITI )
Seedy |- —- "
me TR =} walae —

He concluded that

[a] seeds A are healthy and B are infected.
() seeds B are healthy and A are infected,
(c}  both seeds A and seeds B are healthy.
id) both seeds A and seeds B are infected.

(C-4)



ZACHDEVA GLOBAL SCHOOL

SA2-VIII ; 372013
SUBJECT : FRENCH
Time : 3 Hrs. M.M.: 80
General Instructions :
(il Read all the questions very carefully.

(i} Number the answers as given in the question paper.

{iti] Write in a neat and clear handwriting.

fi) Write the answers in complete sentences.

Section-A (Compréhension Ecrite)

Al.  Lisez et répondez : :
La France, C'est la mode. La France est connue pour sa
mode. [1 ya plusieurs couturiers frangais connus dans le
monde entier comme Chanel, Plerre Cardin, Dior etc. Les
Francals sont trés particuliers & propos des vitements. Les
femmes s'habillent dans les robes ou les jupes avec la
blouse, Elles alment porter des bottes. En hiver, elles
portent souvent un manteau long avec des jupes et des
bottes. Les hommes portent des pantalons et des chemises.
Le week-end, ils s'habillent dans le jean ou une culotte et
le tee-shirt, Les Frangais aiment bien s'habiller et leurs
vetments sont toujours 4 la mode.

Al.1 Dites Vrai ou Faux : (4
1. Chanel est un couturier frangais.
2. Les femmes ne portent pas de bottes.
3. Le week-end, les hommes préférent porter une

culotie. -

4.  La mode n'est pas importante pour les Frangals.

Al.2 Trouvez dans le texte : (2}
1.  deuxverbes en -gr.
2. deux noms de véfements d' hommes.

Al.3 Complétez avec un mot du texte ; (2)

1. Jewvals 4 l'école. [toujours/particulier)
2. Le . nous allons au cinéma. (France/week-end).

(1)




A2. Lisez et répondez .

Alina : Salut! ' o

Becky : Tuasl invitation de Paul?

Allna : Oud, et tof?

Becky : Oultuvasd la soirée?

Alina  : Biensar, jattends la soirée. Tu ne viens pas?

Becky : 5i jeviens 4 la soirée,

Alina  : Quevas-iu porter?

Becky @ Jaiune belle rabe noire. Je vais porter a robe
noire, Et tol?

Alina : Jevais acheter unejupe et une blouse pour la
epirée. Je vais au magasin. Tu viens avec moi?

Becky D'aceord.

A2.1 Dites Vral ou Faux: - (4]

1. Alinanevapasala soirée.
2. Ilyaune soirée chez Becky.
3.  Becky va porter une robe.

4 Alinava acheter une robe.

A2.2 Trouvez dans le texte le contraire de : §1]
1. viens #
= blanche #

A2.3 Compléte avec un mot du texte : (2
1. Jeprends cette bleue. [solrée/jupe) '
9. La_____ commenceddh du soir. (magasin/soirée}
3. . nous allons au cinéma. (soirée/D'accord)
4. mes amis! (Salut/Bien sir)

Sectlon-B [Expression Ecrite)

Bl. Ecrivez et dessinez les ustensiles et les ingrédients d'une

recette francaise <<les crépes=>. (5)

B2, Quels sont vos projets pour pannée prochaine? Quelles sont
vos résolutions? Ecrivez en utilizant le futur en 8-10

phrases. (5)

(2)

E
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D3.

]
i

Cochez la bonne réponse : . (5]

1.

La famille partira :

[a) Lasemaine prochaine

(b) avant Noél [c) aprés Noél
A Marseille

fa} il fera chaud (b) il fera beau
fc) il fera froid _

<<Passer le brevet>> veul dire :

(a) réussira l'examen du brevet
(b} échouera a l'examen du brevel.
[) écrira l'examen du brevet.

Un repas familial :
(a)  gonter () déjeuner
fej) diner
de Louvre se trouve & Paris.
(a) le palais b lemusée

) lechateau

(5)



SACHDEVA GLOBAL SCHOOL _
SA2 : CLASS-VIII i 2/2013

i - ERray ; qUIEE - 80
B - (1) feeq ReAOR a W A6 |
(2) HirEvs-gwwl gag Fewary A |

m ot EEE - {2x2=4)

m,  gEiEEy IO - - (4xVa=2)

IV, mwﬁ#aﬂ%iﬁaﬂ: : | (2)



goe: - o (T ) T 16

; mﬁwﬁwﬁﬁﬁnﬁrﬁhﬁﬁwﬁﬁmﬁ:mmmﬁ |

fere - (10x%4=5)
: —

TaT:, BTEEEE, T, W, A,
wilarTerd:, e, TETNTEd, WhSTRN, T

w2
HrEt TR | : |
aﬁ@mmlmﬂmmmﬁﬁmwlﬂﬂ
@ ﬂmﬂmmﬂlﬁtﬂﬂlmﬁﬁmmﬁ%m_‘__‘ﬂﬁnmqﬁ-
Ls;___mﬁanmﬁﬁwm:ﬁmmﬂwsqmaﬁaﬁﬁm
aifit | O araEE: G- (7) g T | ST BT e e

gefa o Wergee Ay (8) st st Sl | w9 (9) ™
A | :

W (10)

: - __ FE T
Wlmmﬁﬁmmﬁqﬂ?ﬁm1 (10)

T, ST, ST, A, e, T
gy, v, T, e, g,

=]




vg: - " (SgEg-ET) g 28

. iy Eitrarer afaed At a1 Fen O e R - (3x1=3)

W o TEy w5 |

() S T WAl |

() = A G e |

Pty e 9 WA e o - (3x1=3)

() P ey ST |

) - R F

(i) & g o e

F) e YT Wi v g ST S Fe O A
fore - (2x1=2)
() W $EE AL, e s |
(W ¥ Fai Aigy AFet T

(@) I e T e, e - (2x1=2)
W ¥ wREE e g e e
() AT S ) e e | -

ey i e HeaE-fdh: et g g foed © ax=4)

M gEsn_____ Em A

) e (60) auff: e

(W) Al (75) FAT: HH |

[iv} AT (97) et |

el Rty witven et @ e - (4x1=4)

i g, e | {Te)

W o __ e ()

(i) o v e e (T ai)

(v awdt ol | (329)

FmeEngey: et Qi e o freT - (4x1=4)

W dmafemfr_ - (aw) ;

() 99 EEETEEl S g9 | {T)

W) gEARE | (5 - W W)

v) oo e ()

(C-3)




[3x1=3]
q10. Pyl e Fen T foe -

: A
() 7@ T e |
fif) qﬁﬂ;‘fm‘-'ﬂﬁ‘iﬂfﬁi
. gﬂﬁw;mm:;:-'u'mmm! wg: 30
n;l.mﬁﬁhﬁﬂﬁqﬂfﬁimﬁﬂmmﬂﬁﬁﬁmﬁﬁrﬁ—_
(@) T

R or e e oAt ofd #E I
o S e = ey el s

[2x1=2)
M e SR - |

[#'.-'ﬁf-ﬂl
L, e I - |

(@) wai
| (2xVa=1)
| Eged 9O -

(1x2=
n,  geiEREE I - |



— -
s

1L,

qenfadsl @a - (dx¥%=2)
W ey T o o g '

() g o TR R o Sy

() ‘EEy o i oORET o W

(V) e qe o year: FseeRy e

(@) i

L.

T (1)

(et afereeT: WooTTa T SRR
Rysdt - quiwey) vy off ST, TR SIAET: |
ey - ﬂ-mﬁﬁmwﬁwﬂﬂﬁﬁrﬁlﬁmﬁﬁwﬁr_
HAy - w~m@ﬁalwwmmﬁtmmﬁ
i qeat AT @ iy R
frafery - o wEeh e Sifty a2
Rusdt - ofeg W9 |

(mf: Sua Wi ) :
TR S - B (2xY4=1]

- A Rty

) wak HF uReE?

g T - : (2x1=2)
W A e wate

) <vEE T wr Rt

qeee u -  [4xk=2)
ft) ’ﬁdﬁﬂ‘ﬁﬁﬂﬁﬂm‘ﬁﬂm{?

@) ety gemty e e R R

() ey’ arey femy TariToes o GOEL?

v ‘omae o B waiawed 9 W

§12. FERREETRE S St e sagest I o - (4x1=4)

Y T ST aeniE T |

FET 62 T AR TERE: |
wemra: T (2),
T FT A B () Aty S|

mmﬁntﬂi

(C-5)



913. reiffaamery et vt w5 - : [dx1=4)
0 e Sl g sy | |
) T SRR T g
() gfeedt e i
(v) ey waifer sl v feda Affafy
q14. SeifafbaarEnty a3 e - (Bxt=d)
) = g s - qeiE il Ay A |
(W) S EoE e ST |
() o Y o der st B ande)
(v} & E9S] TS ST |
M W Y P S |
(vl) SWE: T A
(vil)  SPTET: IR 9 e S |

fvitt) ¥ Y S|
W15 3 % g e Ha Swgfaenl o fred - (Bx¥6=3)
A Gl
kel A
Y HyEh:
P wH
lens B
T 7y

C-8)



o

SACHDEVA GLOBAL SCHOO!L

SA-II ; CLASS-VII 3/20132
SUBJECT : ENGLISH '

Time : 3 Hrs. : M.M.: 80
General Instructions !

1.
2,
3.
4.

Q1.

Read the questions carefully.

Number the answers as given in the question paper.
Write in a neat and clear handwriting.

Write the answers in complete sentences.

SECTION-A (READING)
Read the passage given below and answer the questions that follow : i8)

Many years ago, Vishnu lived in a small village in the plains of North India.

Orce he went to meet his friend, Moti wha lived in a hilly area. To welcome his
friend, Moli ordered a grand feast. The cooks and the ladies of the house spent
a busy day cooking various delicacies. At lunch various platters filled with brightly
coloured food presented a pretty sight. Vishnu tasted all the dishes served to
him. Moti wailed eagerly for words of praise. Imagine his disappointment when
Vishnu sald, “The meal was wonderfully cooked but the feasts served in our
village are better.” Moti thought that the feasts of the fertile plains must be very
elaborate and ordered his cooks to cook dinner on a grander scale. At night, the
lavish dinner was served to Vishnu and Moti waited in agonising silence. Vishnu
spolse, "Your food is fit for the table of a King but it cannot be compared with the
feasts | have at home.” Moti nearly dropped down in disappointment. What were
the feasts of his frlend's village like? The next day Vishnu left and invited Moti to
visit his place. After a few months, Moti went to meet Vishnu. Vishnu was
delighted to see his friend and ordered for dinner. Moti waited in great expectation
but was highly disappointed when he saw a simple meal. A servant brought in
rotls, dal, green vegetable, curd, rice and a bowl of salad. Moti gulped down the
food and thought that the delicacies of the village would be served to him the
next day. But for the next three days, the same simple meal was served to him
without much variation. Mot couldn't stay quiet and asked Vishnu, "Your village,
| find. has no feast to offer. How can you dispute the superiority of the food
served in your region?” Vishnu sméled and replied, “We, the people of this village,
are very simple and our tastes and eating habits are also simple. We work hard
in fields and prefer tn eal simple but nourishing food. The food you served me
wasa tng rich to be nourishing. It must have also cost you a great deal. What Is

‘the use of such food?” Moti had to acknowledge the strength of his friend’s

arguments. He returned home a changed man,

(B-1)



(a) How did the food in the houses of the two

(bl What does ‘the dinner on & grander scale

friends differ? _ (2)

mean? Do you think it was

necessary or a waste? Why? (2)
jc) For what did Moti wait expectantly but in vain? (1
(d) How did Vishnu praise the dinner? Did it please Moti? (1)

[e) How did Moti accept defeat?

(1)

() Find words from the passage that mean the same as following - [2xth=1)

()  admit the truth of

. [1.1] alla.rge meal marking a special pccasion

. Onthe basmiaf your reading of the poem, answer

A snail once to a tortoise sald :

“What is your speed per hour?’

The tortoise Answered, “Ohl not much,
I'm but one tartoise power.'

‘But didp't you once beat the quick hare?
‘Not I', the mud:st tortoise said,

‘Great grandpa was gone

And while the hare slept, our old man
Just kept on, going on.”

 see’, the snail at length replied

‘1 always thought it queer

Dryou think if | tried such a race.

I need have any fear?

The tortoise smiled and shook his head.
“The times have vastly changed

Great grandpa had a lot of luck

Things are now not so arranged.

That crowds of sporting folks would come,

And keep the hare awake;
S0 what a tofl it would be for you,
What strides you'd have to take!

the questions that follow . (7

-

I
-



3.

Q5.

Q6.

Besides why should we nowadays
Be proud to beat & hare?

‘We're most distinguished as we are -

Slow moltion is NOW 50 rare.

(a) What do the snail and tortoise have in common? (1)
by How did the tortoise's grandpa win the race? (1
(@) How have things changed ‘now' that would keep the hare awake? (1)
(d] What advice did the tortoise give 10 the snail at the end of the poem? {1)
(e} The pocm teaches us an jmportant lessor. What do we learn from the

poem? (1)
(£} “!rlenuﬁ.r one literary device used in the poem. i
[g) Find antonyms of the given words from the passage : (2xYe=1]
()  mever i) frowned
SECTION-B (WRITING)
Write an e-mail to thank your aunt who lives in Punc. She has sent you abirthday
present by post which you liked a lot. (5)

This month is ‘Health Awareness Month’' at your school. Make a poster to highlight
the dangers of junk food, importance of healthy eating habits and the benefits of
exercise. (4

vou are Akshit/Akshita, a resident of 46/78, Vijay Nagar. New Delhi. Write &
Jetter to the editor of a newspaper expressing your views about the need to instil
moral values in today's youth. (6)

SECTION-C (GRAMMAR)
Replace the underlined words with a suitable adverb and rewrite the sentences

(4 Ye=2)

{a) MNeha forgot an jmportant file at home because she left her house in @ great

(k) The teacher reminded the students 2 ' again to submit the project
work on time.

¢ My mother shouted at me in anget when 1 spoiled her expensive saree.
(@) Al the playcrs shouted W’-ﬁ when they won the match.

{B-3)



@7. Fillin the blanks with the correct degree of the adjectives given in the brackets @ -,

[dxle=2)
fa] Thepenis than the sword. [mighty)
(b) Solomon was a very King. (wisc)
(¢} TheShatabdi Express is the train on this route. (comfortable}
(d) A wise eneay is than a foolish friend. (good)
Q8. Fill in the blanks with suitable form of verbs given in brackets : [4x16=2] .
A miser once (bury) all his money under a tree. He
[save) this money over the years. He went to check his treasure everyday. Oncea
thief {see) him counting his treasure and decided to
{steal) it. The next day, the miser found his treasure gone and was very upset.
©9. Fill in the blanks with suitable articles : (4x'e=2)
What shame! You have beaten innocent child.
Child was just asking for loaf of bread.
@10. Change the given sentences into indirect speech : (2x1=2)

fa] The host said, "I am really glad to be with you today.”
(b) The examiner said, "Ansh has worked independently.”

@11. Rewrite the given sentences in passive volce | 2x1=2)
la) Somebody has switched on the light.
bl The students were decorating the display boards.

Q12. Join the given pairs of sentences using suitable conjunctions : (2x1=2)
{a) The water looks clean. It may not be free from bacteria.
b] Global warming must be controlled. All the glaciers will melt.

@13. Complete the given passage with suitable collective nouns - (4x14=2)
A cruel hunter entered the forest with a of arrows on his back and
hid behind a of trees, He saw a of wolves chasing a

of sheep. :

Q14. In the given sentences, the relative pronouns are not placed correctly. Rewrite
the sentences correctly : (2x1=2)

[a) The child, which was very heavy, could not lift the box.

(b) The shopkeeper welcomed Mrs, Bapoor, who was a very courteous marn.
(B-4}
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@15. Rearrange the words to make complete and correct sentences: (2x1=2}

(a) pmgressﬂdfaﬂerfIndia,l'afhas,n"lcrtfindepcndtnm:-
(b) teacher/annual day/music/composing/patriotic/our/is/a song/for the.
SECTION-D (LITERATURE}
(316. Read the extracts given below and answer the questions that follow :

(A) “For myself I chose the cheapest dish on the menu and that was a mution
chop.” {3x1=3)

{a) Who does the word T refer to in the above lines?
(b) With whom did the speaker go for lunch?
¢} Why did the speaker order the cheapest dish for himself?

(B) “So, flutter flit, be not so proud
Each caterpillar is endowed
With power to make him by and by
A blithe and brilliant butterfly.” (3x1=3)

fa) Who is referred to as ‘him’ in the above lines?
b Why does he refer to the butterfly as ‘flutter flit"?
[c] What power does 'he’ possess?
{C) "Rather! I've been wanting to see what it's like ever since | was a kid."

(3x1=3}
fa} Who is the speaker of the above lines?
(b) What does the word ‘it refer to in the given lines?
fc) Why did the speaker want to see it ever since he was a kid?
Q17. Answer the given questions in 30-40 words : | (2x2=4)

la) Why was the narrator tense while his guest n:njﬂ:,rtd a lavish meal at Foyot's
in the lesson ‘The Luncheon™

(b} Why did Mr. Fotheringay go to the park and what did he do there?

Q18. Answer the given questions in brief : (2x2=4)
fa} ‘The Butterfly and the Caterpillar’ is an age old fable. What have you learnt
from this poem?

{B-5



Q19.

@20.

Q21.

Ib)  How does the poet in the poem If' advise the reader to deal with the dishones
people? _ :
Answer the given question in 100-150 words : (5)

‘Fresence of mind is the ability to act quickly in the face of crisis’ and John used
the same quality to overcome the difficult situation. How did he do so? [Answer
with reference to the story "The Rowland Ruby’)

OR

Mr. Fotheringay wanted to use his powers for the betterment of the society but
everything went wrong. What happened when he stopped the earth’s rotation
and how did he bring everything back to normal?

Answer the following in 30-40 words each : [2x2=4)

[a) Iri- the story "Seventeen Oranges’ the policeman caught the narrator red
handed but had to leave him free at the end. Why?

(b) What is the significance of weaving different kinds of clothes at different
times of the day in the poem ‘Indian Weavers?

Answer the given question in 80-100 words : (4)

Odysseus proved his intelligence when he escaped from the cave of Polyphemus.
How did he manage to do so?

OR

In the lesson Seventeen Oranges' the narrator was very fond of oranges but
started hating them at the end of the story. What brought this change in him?

(B-6)
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Q1. Choose the correct option, [1 x5 = 5]

a) Who is known as Father of Geometry?

i} Euclid - (il} Charles Babbage
i) Herodotus (iv) P.C. Ray

b) ‘Agoraphobia’ is the fear of

i} death i) light

jii} germs Iv) wide open spaces
c) C. Venkata Raman received Nobel Prize in the category of

i) Peace li) Literature

jil) Physics iv) Medicine

d) Michael Phelps is associated with

ijrunning ii) swimming

lii) boxing iv) shooting

&) It is a world famous Chinese therapy. In this, fine needles are inserted into the
patients skin at special points along some assumed lines of energy.

i) Accupuncture
ii) Shiatsu

Q2. Identify the person -

(i) Reiki

(V) Ayurveda

[1x4=4]

a) He was British but bor in Mumbai, Some of his famous works are 'The Jungle

Book', ' Just So Stories', ‘Gunga Din and Kim', He is

b) This Indian led the Chipko Andolan to save trees from being cut down. He also led

protests against the Tehri Dam Project. He is

¢} She was a successful African American businesswoman.She is listed in the Guiness
Bock of Records as the first woman to become a millionaire, She is

Sector = 18 &, Dwarka, Mew Delhi - 110075
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d) He was a famous Roman general who was offered dictatorship far life. Many

statesmen did not like the idea.
Q3. Fill in the blanks. [1x 4 =4]

a) Charles Dicken's famous book named -
begins with the line * Marley was dead, at least to begin with".

b) Name fhe sport in which the passanger basket carries you in the air

c) Is an instrument for detecfing electric charge.

d) Dermatologist is the specialists who specialise in freatment of

Q4. Write full form of [1x2=2]
(a) MR

(b) EVM

Q5.Answer the following questions (Current affairs) [1x5=5]

{a) Name the Indian banker & business executive who on 15 dec, 2012 took over as
presicent of FICCI becoming the first woman to head'the leading industry
body

(b) Name the film which was given national tourism award by the ministry of tourism in
2012,

(¢} The organisation to which the Nobel peace prize 2012 was awarded at Oslo.

(d) Who is the present raiiway minister of India 7

(&) Which telecom operator shut its Mumbai operations recenfly?
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